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QUESTION 1

While building a VMware View environment one of the design requirements is keeping vCenter and View Composer
always available. Which solution can be utilized to achieve this?

A. vCenter Server Heartbeat
B. vSphere HA

C. vSphere FT

D. Host Based Replication

Correct Answer: A

QUESTION 2

In vSphere, a bound physical NIC can be configured to transmit and receive Jumbo Frames. What is the Maximum
Transmission Unit (MTU) for Jumbo Frames in vSphere?

A. 9000
B. 9500
C. 5500
D. 5000

Correct Answer: A

QUESTION 3

A vSphere 5 implementation consists of a fully automated DRS cluster with two ESXi 5.x hosts with the following
vSphere Standard Switch configuration.

1.

Switch A . three vmnics, one port group named sFTP-PG

2.

Switch B . two vmnic, one port group named Web-PG

3.

All vmnics are trunked to the same physical switch.

DRS has been configured with an anti-affinity rule for all virtual machines in the Web-PG so that no more than half of the
virtual machines run on any given host. The virtual machines on WebPG are experiencing significant network latency.

The network team has determined that a performance bottleneck is occurring at the ESXi host level. Which solution will
require the least amount of administrative work and the least amount of service interruption?
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A. Migrate Web-PG to Switch A and sFTP-PG to Switch B on each host
B. Move a vmnic from Switch A to Switch B on each host

C. Convert the three Switch Bs to a single vSphere Distributed Switch

D. Use vMotion to redistribute some of the VMs in Web-PG to a different ESXi host

Correct Answer: B

QUESTION 4

Users are complaining that a Windows application server virtual machine configured with 1GB RAM is not performing
satisfactorily. The virtual machine is in a fully automated DRS cluster. An administrator opens the Performance tab for

the

guest virtual machine and adds the counters for Memory Ballooned and Memory Swapped in MB. The performance

chart displays a value of 0 for Memory Ballooned and 240 for Memory Swapped.

Which action should be taken?

A. Install VMware Tools into the virtual machine.
B. Adjust Mem.CtlIMaxPercent to read 75.

C. Migrate the virtual machine to another host.
D. Add memory to the virtual machine.

Correct Answer: A

QUESTION 5

What is one requirement when adding an extent to a VMFS datastore?
A. A new unused NFS mount

B. An RDM with sufficient space available

C. An unused iSCSI or FCP LUN

D. Free space on the LUN holding the VMFS datastore

Correct Answer: C
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